@ HEAFofl Hiet 252 H]
@ AFoll et ’EA]F2] H]
© 25 tigt 952 ¥l

@ "EA|Eoll et A2 H]
@ 5o diet 2152 H|



45 2159 do] | 45+ A&
(1) 21.98 cm 7cm
(2) 37.68 cm 12 cm
(3)31.4cm 10 cm
(4) 12.56 cm 4cm
(5) 18.84 cm 6 cm

O 3.141 @ 3.1416 ® 3.142
@ 3.14 ® 3.1



® AF°] 14cm? ¢ @ FAE°] 6cmel
® Y71 15.7emsl ¢ @ AE°l 12cmQl ¥

® "kzlE°] 5emQl ¥



@)

HE2]Eofl tigt 2152 =
RE2]Fofl tigt e B

A5l "ot ’ExF2] B

@ AFl tigt 2] |
@ 5o tiet 2152 Hl



— 1

- pmo---

20| 24}
® uA

@

mjp

]

@ =



thg 0] oS ABOR st U WEYS ©, Uel oIS

@® 78.5cm? @ 62.8cm? ® 60.24cm?

@ 58.16cm? ® 50.24cm?



el
™
™
Wi
Xjo
,mo
T
ojn

o 4

o

(

)
®

F2]5)x3.14 4T},

=]
il

(

)

=
s

%



BHAE ) HlE PFgoleta gt

© 9z

@ 9Fge A9
A2 90| FA
2 Az}

277} Ad4E AU

S AU A0 2 Fhglo] Zef o]o] £o

g0l Holo] 79Itk
Z

= (2

) x2x3.14



=

o] 2717} getA)

2

@

o
—
(a2

or

o] oF 6.28 M YUt

A5E 9FLE AR

P A=

=1
T

o

@

71

® 5o



10.

@ ¥HA]E°] 2em?l

©

HF2]E0] 3em¢?l

= @ A5l 25eme ¥

<! @ #&°] 2.3cmsl ¥

® ¥F7112.56cm] A



11. 8ol 1m 1 ¥ 2o 2327 5y o] 29 4]& 5 HHH
272 1), BY47H2H AL D m YU
@ 1m @ 5m ® 7.85m

@ 15.7m ® 31.4m



12. 99 Se9] Zol} 1ss4cm 91 2] WAE] Pol F emPU7H?

@ 10ecm @ 15ecm ® 20ecm @ 25¢cm @ 30cm



13. o= FolA HolZt 718 2 9& 1=/ e.

@O ¥F7F 1256 cmS] 4 @ ¥H25°] 1.75cm¢] 9
® 4Hol7t 1256 cm? 1 ¢ @ ¥=71157cm Q1 ¥
® 4Yol7F 28.26cm? 2l



14. og 99 Wol=785em2dUch [ |t Eof

I2AQ,

O 12 @ 11 ® 10 @ 9



15. the @4 AT HEo| HolE T,

O 72cm? @ T76cm? @ 80cm?

@ 86cm? ® 92cm?



